CT6-1.  A mass is oscillating back and forth on a spring as shown.  At which position is the magnitude of the acceleration of the mass a maximum? Position 0 is the relaxed (unstretched) position of the mass.  
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A: 0
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CT6-2. A rider in a "barrel of fun" finds herself stuck with her back to the wall.  Which diagram correctly shows the forces acting on her?
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 CT6-3. A mass m is pulled along a frictionless table by constant force external force Fext at some angle above the horizontal.  The magnitudes of [image: image6.wmf]Pink
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the forces on the free-body diagram have not been drawn carefully, but the directions of the forces are correct.   

Which  statement below must be true?

A:   
mg > N 

B: 
N > mg 
C:  
N=mg
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CT6-4. A mass m is accelerates downward along a frictionless inclined plane. The magnitudes of the forces on the free-body diagram have not been drawn carefully, but the directions of the forces are correct.   

Which  statement must be true?

A:   
mg > N 

B: 
N > mg 
C:  
N=mg
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CT6-5. A mass m is pulled along a rough table at constant velocity with an external force Fext at some angle above the horizontal.  The magnitudes of the forces on the free-body diagram have not been drawn carefully, but the directions of the forces are correct.   

Which  statement below must be true?

A:   
Ffric  >  Fext ,    N  >  mg.

B: 
Ffric  <  Fext ,    N  <  mg.

C:  
Ffric  >  Fext ,    N  <  mg.

D:   
Ffric  <  Fext ,    N  >  mg.

E: 
None of these.

CT6-R  (Vector review)

The vector 
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 is shown.  What is Ax?
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A: A​x = A cos(
B: A​x = A sin(
C: Neither of these.

CT6-6  A mass slides down a rough inclined plane with some non-zero acceleration of magnitude a1.  The same mass is shoved up the same incline with a large, brief initial push.  As the mass moves up the incline, its acceleration is of magnitude a2.  How do a1 and a2 compare?
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A:  a1 > a2

B: a1 = a2

C: a1 < a2
 CT6-8.

A car rounds a banked curve at some speed without skidding.   The radius of curvature of the curve is R.  A possible free-body diagram (which may or may not be correct) is shown.
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 about Ffric, the magnitude of the force of friction?

A:
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B: 
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C: Neither.

What can you say about the direction of Ffric?

A: It is in the direction shown in the free-body diagram.

B: It is in the direction opposite shown in the diagram.

C: The direction depends on the speed of the car.
Please test your transmitter with this free question.

What did you think of Exam I?
A) too easy.

B) about right.

C) too hard.
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